= A
N = 0 &8 AFH Y & A AN
2AM: 23 AR D
M Xgez 29 XA
CHel: oFEE NB Y 2EES 23 (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
©| 3| AtR It 1,052,297 1,011,953 40,344
Xgtos ey x4 738,146 697,856 40,290
oFESE XY ¥ E2EES A5 610,551 570,261 40,290
oFEE X 548,951 538,661 10,290
205 2|3/ Hl 548,951 538,661 10,290
((R=P = 194,231 188,941 5,290
OgF4¢ 2,023,230 x84 * 122 194,231 188,941 5,290
10 =AML 2 12,000 7,000 5,000
OFZoEUBIAMNR L2 12,000 7,000 5,000
o s2E= 61,600 31,600 30,000
201 Y| 61,600 31,600 30,000
01 AL 22l H 61,600 31,600 30,000
093 30 A M= 30,000 0 30,000
HAH2HAH (25 AH2 D) 314,151 314,097 54
ol2t 2 63,791 63, 154 637
o124 H 63,791 63, 154 637
101 124 H 63,791 63, 154 637
01 84 59,067 58,478 589
OANZA2 R4 HUZ (1Y) 14,934 14,784 150
—-52 14,2152 2«10 Al 2t * 122 3,412 3,378 34
- 62 12,1242 2% x10A| 2t x 122 2,910 2,881 29
—-72 10,9522 «4% »10Al 2H* 122 5,257 5,204 53
-82 9,832 x 1A «10Al 2+ + 128 1,180 1,168 12
—-92 8,887« 1 *10A| 2t * 122 1,067 1,056 1
—d2HEX(C2)
9,22021 x 1 «10Al 2+ <128 1,108 1,097 1
GESNF=I=Fa= 10,4482 «11H «32A] 2+ + 122 44,133 43,694 439
02 JIERI B % 4,724 4,676 48
OHAP (154 0/et) 4,724 4,676 48
—AZe2RLg(FAUR)
9,371 x 1 «10Al 2+ <128 1,125 1,114 1
—zl2PHY 9,3712 x 1 «32A 2+ <121 3,599 3,562 37
| =2y 250,360 250,943 A583
I 2| 250,360 250,943 A 583
201 Y2 88,720 89,303 A 583
01 AFR 22| H 52,072 52,655 A 583
OBt 2H| EHHY & 18,842 19,425 A583
207 SR IH 2| 50,000 0 50,000
02 & AN Y 50,000 0 50,000




2N
X ZH -
L= B

el

O 3| AR It
HH2LZH (AZMRD)
Jl=23tl

SN FH-SA(EN) - MBAY - BES

Off &k 24 I EH Husz
Oolsl EHOIX WH 7% 50,000 0 50,000
405 RH&HF S b 70,000 120,000 ~50,000
01 et 2 F 5 St 70,000 120,000 ~50,000
Ogazos EHOIXN M 7= 0 50,000 ~50,000




